

# DR. BALASAHEB SAWANT KONKAN KRISHI VIDYAPEETH, (Agriculture University) DAPOLI, Dist. RATNAGIRI (Maharashtra State) INDIA

#### TRANSCRIPT

Serial No : 2021120877

FROM 2017 - 2018 TO 2020 - 2021

#### **FACULTY OF AGRICULTURE**

Name of the Student:

MISS. NATEKAR SALONI SUNIL

Sharadchandraji Pawar College of Food Technology, Kharawate-Dahiwali

Registration No.: FSKRU/17/0877

Mother's Name: SUJATA

Year of Admission: 4 2017 - 2018

Medium of Instruction: **English** 

Course: Bachelor of Technology (Food Technology)

Date of Declaration of Result: 23/08/2021

COURSE NO.	TITLE OF THE COURSE	CREDITS	GRADE POINTS (Reduced to 10 Points)	POINTS (Credits x G.P.)
ELDI	I SEMESTER			16-
FPT-111	Principles of Food Processing	3	6.4	19.2
FPT-112	Post Harvest Management of Fruits and Vegetables	3	6.6	19.8
FE-111	Engineering Drawing and Graphics	3	8.1	24.3
FE-112	Fluid Mechanics	3	5.9	17.7
FE-113	Mathematics	2	5.5	11.0
FCN-111	Environmental Science and Disaster Management	2	7.3	14.6
FCN-112	Biochemistry	2	7.2	14.4
FMS-111	General Microbiology	3	8.0	24.0
FBM-111	Computer Programming and Data Structure	3	7.3	21.9
BIO-111	Introductory Biology	2[NC]	6.0	PASS
	II SEMESTER			
FPT-123	Cereal Processing	3	6.7	20.1
FPT-124	Food Packaging Technology	2	6.9	13.8
FE-124	Heat and Mass Transfer	3	7.1	21.3
FE-125	Statistical Methods and Numerical Analysis	2	6.9	13.8
FMS-122	Food Microbiology	3	6.9	20.7
FCN-123	Human Nutrition	3	6.7	20.1
FCN-124	Food Chemistry of Macronutrients	3	6.5	19.5
FBM-122	Information and Communication Technology	2	7.0	14.0
PHEY-122	Physical Education and Yoga	1[NC]	8.0	PASS
DEG-123	Democracy, Election and Good Governance	1[NC]	8.0	PASS
NSS-121	National Service Scheme	1[NC]	9.4	PASS
	III SEMESTER	1,		
FPT-235	Legumes and Oilseeds Technology	3	6.8	20.4
FPT-236	Meat, Poultry and Fish Technology	3	6.3	18.9
FPT-237	Processing Technology of Beverages	2	6.6	13.2
FPT-238	Processing of Milk and Milk Products	3	6.1	18.3
FE-236	Energy Generation and Conservation	3	7.2	21.6
FE-237	Unit Operations in Food Processing - I	3	6.1	18.3
FCN-235	Food Chemistry and Micronutrients	3	6.4	19.2
FMS-233	Industrial Microbiology	3	6.7	20.1
FPO-231	Student READY - Industrial Tour(I)	1	8.8	8.8
	IV SEMESTER		0.0	0.0
PT-249	Wheat Milling and Baking Technology	3	6.9	20.7
FPT-2410	Fruits and Vegetables Processing	3	8.4	25.2
FPT-2411	Processing of Spices and Plantation Crops	3	7.1	21.3
FE-248	Unit Operations in Food Processing - II	3	6.9	20.7
E-249	Post Harvest and Storage Engineering	3	7.1	21.3
CN-246	Food Additives and Preservatives	2	7.1	15.6

COURSE NO.	TITLE OF THE COURSE	CREDITS	GRADE POINTS (Reduced to 10 Points)	CREDIT POINTS (Credits x G.P.)
FMS-244	Food Safety and Microbial Standards	3		23.1
FBM-243	ICT Application in Food Industry	3	8.1	24.3
	V SEMESTER			
FPT-3512	Confectionary and Snacks Technology	3	5.9	17.7
FPT-3513	Food Extrusion Technology	2	6.8	13.6
FE-3510	Biochemical Engineering	3	5.9	17.7
FE-3511	Food Refrigeration and Cold Storage	3	5.7	17.1
FCN-357	Instrumental Techniques in Food Analysis	2	8.6	17.2
FMS-355	Food Biotechnology	3	7.9	23.7 [R]
FBM-354	Entrepreneurship Development	3	7.1	21.3
FBM-355	Business Management and Economics	2	8.8	17.6 [R]
FBM-356	Food Laws and Regulations	3	6.5	19.5
FPO-352	Student READY - Industrial Tour (II)	1	8.6	8.6
	VI SEMESTER			
FPT-3614	Food Quality and Sensory Evaluation	3	7.3	21.9
FE-3612	Food Processing Equipment Design	2	7.3	14.6
FE-3613	Food Plant Design and Layout	3	7.4	22.2
FE-3614	Instrumentation and Process Control	3	7.4	22.2
FCN-368	Enzymes in Food Industry	2	7.4	14.8
FMS-366	Food Plant Sanitation	3	7.4	22.2
FMS-367	Quality Assurance and Certification	3	7.5	22.5
FBM-367	Project Preparation and Management	2	7.1	14.2
FBM-368	Marketing Management and International Trade	2	7.3	14.6
FBM-369	Communication Skills and Personality Development	2	7.4	14.8
	VII SEMESTER			
FPO-473	Student READY-Experiential Learning Programme-I	7	8.3	58.1
FPO-474	Student READY-Experiential Learning Programme-II	7	8.4	58.8
FPO-475	Student READY-Research Project	3	9.0	27.0
FPO-476	Student READY-Seminar	1	8.6	8.6
	VIII SEMESTER	M		
FPO-487	Student READY- Inplant Training	20	8.7	174.0

**Credits Completed:** 

185

Credits Completed by Gradial Course:

180 5

Credits Completed by Non-Gradial Course :

1325.7

**Credit Points Obtained:** 

1020.7

Cumulative Grade Point Average (CGPA) :

7.37

Equivalent Percentage of Marks & Class:

73.70 First Class

8.00 & above C.G.P.A. - First Class with Distinction

7.00 to 7.99 C.G.P.A. - First Class 6.00 to 6.99 C.G.P.A. - Second Class 5.00 to 5.99 C.G.P.A. - Pass Class

R = Repeat NC = Non-Gradial Course

Duration of Degree Program : 4 Year in 10 Point Scale

Notification Order No: BSKKV/Exam-E/B.Tech. (Food Tech.)/1222/2021 Dated - 23 Aug. 2021

DAPOLI

DATE: 23/08/2021

[C. Y. CHOGALE]

DEPUTY REGISTRAR



# महाराष्ट्र राज्य माध्यमिक व उच्च माध्यमिक शिक्षण मंडळ, पुणे Maliarashtra State Board Of Secondary and Higher Secondary Education, Plune

#### कोकण विभागीय मंडळ / KONKAN DIVISIONAL BOARD

#### माध्यमिक शालान्त प्रमाणपत्र परीक्षा - गुणपत्रक

#### SECONDARY SCHOOL CERTIFICATE EXAMINATION - STATEMENT OF MARKS

आसन क्रमांक	केन्द्र क्रमांक	जिल्हा व शाळा क्रमांक	परीक्षेचा महिना व वर्ष	गुणपत्रिकेचा अनुक्रमांक
SEAT NO.	CENTRE NO.	DIST. & SCHOOL NO.	MONTH & YEAR OF EXAM	SR.NO. OF STATEMENT
B031120	8301	26.08.003	MARCH-2015	040674

उमेदंबाराचे संपूर्ण नाव (आडनाव प्रथम) / CANDIDATE'S FULL NAME (SURNAME FIRST)

#### Natekar Saloni Sunil

### उमेदवाराच्या आईचे नावं / CANDIDATE'S MOTHER'S NAME Sujata

विषयाचा सांकेतिक क्रमांक व विषयाचे नाव Subject Code No. and Subject Name		कमाल गृष	प्राप्त गुण किंवा श्रेणी / Marks or Grade Obtained		
		Max. Marks	In Figures	In Words	
01 MARATHI (1ST LANG)			100	084	EIGHTYFOUR
15 HINDI (2/3 LANG)			100	080	EIGHTY
17 ENGLISH	l (2/3 LANG)		100	080	EIGHTY
71 MATHEN	MATICS		100	092	NINETYTWO
72 SCIENCE	& TECHNOLOGY		100	069	SIXTYNINE
73 SOCIAL	SCIENCES		100	092	NINETYTWO
K3 PREP. O	F ARTICLES FOR SC	HOOL		Α	
P1 HEALTH	& PHYSICAL EDUCA	TION	*	Α	
P2 SCOUTI	NG/GUIDING		*	A	
R6 PERSON	NALITY DEVELOPMEN	JT	*	A	
41 INFORM	ATION COMMUNICAT	ION TEC	•	A	
Result / निकाल	£Percentage/टक्केवारी	एकूण गुण/	E00	428	FOUR HUNDRED AND
PASS	85.60	Total Marks	000	420	TWENTYEIGHT

S150200674

महत्वाचे, रोप, कार्चानुमय व शालेय विषयातील श्रेणी आणि चिन्हांची माहिती बांचा तपशील मागील पृष्टावर पहाबा. See overleaf for Important, Notes, Grades in work experience & school subjects and meaning of special characters.



3619869275088

For 1

विभागीय सचिव/Divisional Secretary

# महाराष्ट्र राज्य माध्यमिक व उच्च माध्यमिक शिक्षण मंडळ, पुणे Maharashtra State Board Of Secondary and Higher Secondary Concation, Plune

कोकण विभागीय मंडळ / KONKAN DIVISIONAL BOARD

उच्च माध्यमिक प्रमाणपत्र परीक्षा - गुणपत्रक

HIGHER SECONDARY CERTIFICATE EXAMINATION - STATEMENT OF MARKS

शाखा	आसन क्रमांक	 जिल्हा व उच्च.माध्य.शाळा क्रमांक	परीक्षेचा महिना व वर्ष	गुणपत्रिकेचा अनुक्रमांक
STREAM	SEAT NO.	DIST.& HR.SEC.SCHOOL NO.	MONTH & YEAR OF EXAM.	SR.NO. OF STATEMENT
SCIENCE	W005916		FEBRUARY-17	032012

उमेदवाराचे संपूर्ण नाव (आडनाव प्रथम) / CANDIDATE'S FULL NAME (SURNAME FIRST)

## Natekar Saloni Sunil

उमेदवाराच्या आईचे नाव / CANDIDATE'S MOTHER'S NAME Sujata

विषयाचा सांकेतिक Subject Code N	क्रमांक व विषयाचे नाव o. and Subject Name	*माध्यम Medium	कमाल गुण Max.	अकात	प्राप्त सुण / Marks Obtained अक्षरात / In Words
54 PHYSICS 55 CHEMISTR 56 BIOLOGY	01 ENGLISH 02 MARATHI 40 MATHEMATICS & STATISTICS 54 PHYSICS 55 CHEMISTRY		100 100 100 100 100 100 050	065 087 057 046 055 069 038	SIXTYFIVE EIGHTYSEVEN FIFTYSEVEN FORTYSIX FIFTYFIVE SIXTYNINE THIRTYEIGHT
30 HEALTH & PHY	SICAL EDUCATION (GRA	DE) B			
Result / निकाल PASS	Percentage / टक्केवारी <b>64.15</b>	एकूण गुण / Total Marks	650	417	FOUR HUNDRED AND SEVENTEEN

## H179032012



महत्वाचे, टीप, आरोप्य व जारीरिक ग्रिक्षण विषयातील श्रेणी आणि चिन्होंची माहिती यांचा तपजील मागील पृष्टावर पहाचा. See overleaf for Important, Notes, Grades in Health & Physical Education Subject and meaning of special characters.



2518499385480



विभागीय सचिव/Divisional Secretary